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o o, = 2(200 - 100) 1\/(200 +100)2 + 4 x 3002 I
1, Y2 2 -2 Oy=-loo MF
— -
= 50 + 335 = 385[MPa], — 285[MPa] ‘—h Al H Gy Jnth
EIEAEOH L, #(9.16)L 1, g RN
2x300 o _ o
tan26, = =210, 20, =634° 260n, = —1166
0,, =31.7°
0,, = —58.3°
.‘
[)’( loo , =jos) ;
. \
o[\ ¢ A
T - Non e Te385
e 20, _$‘—‘;\\‘-8. 54 !
P (200, 3e0)
[3 T

#2X 9-B



9-B1
I 9-A1 TR L NTZBIFRA AV/Vy = g + &y + &, DFOTHETIC, X
9-2 DIEH—OFTHEBRAE W THEREEINR LSRG TET &, RO

£ %,
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70=€X+8y+82=

1 1 1
E{Ux —v(oy + 0, )} + E{Jy —v(o, + o)} + E{Uz —v(ox +0y,)} =

(1-2v)
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(1) BshorkeEsix, X£09.1D50,

Oy=foMPa

1 1
o, 0= 5(100 + 40) iz\/(ZOO —40)? + 4 x 802

=70+ 85,4 = 155.4MPa
X 57T, —15.4MPa
T Do HmEE, #9.16)% AW T,
2X80 8
==-%v,
100—-40 3

20,, = 69.4° 20,, = —110.6°
0,, = 34.7°,  6,, = —55.3°
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FHAWIS DEom i, $9.16)% AV,

100—-40 3 °
an20, = ———==—2LV, 20, = 206
20,, = 159.4° 0,, = —10.3°, 0, = 79.7°
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L ié\/(wo —40)2 + 4 x 802 = +85.4 [MPa]

TR EOEEIS I,

1 1
0=E(01+02) =E(GX+JY)

1 1
= 5(155.4 —154) = 5(100 +40) = 70 MPa



(3) 30°Z& 724 EITAEM 2 mEIS AL, K(9.13) LV,
1 1
o = (100 + 40) + = (100 — 40)cos(2 x 30) + 80sin(2 x 30) = 154.2 MPa

30°% 729 _EIC/EH T 2 AMNS 1T, RX9.19 50,
T= —%(100 — 40)sin(2 x 30) + 80cos(2 x 30) = 14.0 MPa



